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Assessor's comamnent:
Iéailway wheelset hunting. Part (a) was bookwork, generally well done. In Part (b), it was

remarkable how few students could get the correct expression for the moment of the longitudinal
spring forces about the centre of the axle. Many signs were wrong.
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Assessors comumnenton G2

Car Handling: A popular question. Generally well done.
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Assessors esnanaert

Precession of non-equatorial orbits. This was a fairly standard ‘bookwork’ question, and

candidates either scored very well on it (14 got 70% or more) or very poorly (5 attempts got 15% or

less), presumably depending on whether they had studied the notes or not. Many fell into the trap
of taking the altitude of the orbit in part (c) to be the radius
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Assessols conannenT:

Gravitational potential up to the J4 term. A fairly straightforward “show that...” type of question,
requiring an understanding of potential theory and the definition of a sidereal day. The mark
distribution was again strongly bimodal (14 candidates scored 70% or more, and 10 scored 30% or
less), suggesting that candidates either had, or had not, prepared themselves for examination on this
material. Most candidates who got that far made sensible suggestions for the last part.




